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format bank
%% rental car - long term analysis
A=[.8 .1 .2 ; .2 .6 .3 ; 0 .3 .5]
k=10
A^k

%% google PageRank
P0=[0   1/2 1/2 0   1/5 ; 
    1/2 0   1/2 1/2 1/5 ;
    0   1/2 0   0   1/5 ;
    1/2 0   0   0   1/5 ; 
    0   0   0   1/2 1/5 ];
K0=(1/5)*[1 1 1 1 1 ; 
    1 1 1 1 1 ; 
    1 1 1 1 1; 
    1 1 1 1 1 ; 
    1 1 1 1 1];
G0=.85*P0+.15*K0;
P1=[0 0 1 0 1/5 
    1/3 0 0 1/2 1/5 ; 
    1/3 0 0 1/2 1/5 ; 
    1/3 1/2 0 0 1/5 ; 
    0 1/2 0 0 1/5];
G1=.85*P1+.15*K0;
P2=[0 1/2 0   1/7 0   0   1/7 ; 
    0 0   1/3 1/7 1/2 0   1/7 ; 
    1 0   0   1/7 0   1/3 1/7 ;
    0 0   1/3 1/7 0   0   1/7 ; 
    0 1/2 0   1/7 0   0   1/7 ; 
    0 0   1/3 1/7 1/2   1/3 1/7;
    0 0   0   1/7 0   1/3 1/7];
K2=1/7*[1 1 1 1 1 1 1;
    1 1 1 1 1 1 1;
    1 1 1 1 1 1 1;
    1 1 1 1 1 1 1;
    1 1 1 1 1 1 1;
    1 1 1 1 1 1 1;
    1 1 1 1 1 1 1];
G2=.85*P2+.15*K2;
k=20;
test=[1 1 1 1 1 1 1 ] *G2;
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end
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